RMSE D B IR E k7 14

Ak upflx dnflx flxcnv | tend upflx dnflx flxenv | tend
cm1 Wm-2 (Wm-2 {Wm-3 |Ks-1 Wm-2 Wm-2 [Wm-3 |Ks-1

1.98 3.28 3.00e-4 6.55e-b 3.72e-1 1.11 1.40e-4 1.55e-5

2 1.15 9.55e-1 3.42e-4 6.00e-5 2.94e-3 1.29e-1 4.28e-5 5.38e-6
1 4.88e-1 6.53e-1 1.67e-4 3.26e-5 bL.67e-2 1.1le-1 4.17e-b 3./8e-6
0.2 4.6be-1 3.9le-1 5.33e-5 1.70e-5 3.16e-3 2.13e-2 9.34e-6 9.38e-7

0.1 1.15e-1 6.56e-2 2.09e-5 7.10e-6 4.95e-4 1.42e-2 3.24e-6 3.40e-7



RMSE (all other than Tend)

Dependence of RMSE on resolution
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RMSE

JEH&EEH p= 10 hPa

BB R AR B AT

Ak upflx dnflx flxcnv | tend upflx dnflx flxenv | tend
cm1 Wm-2 (Wm-2 {Wm-3 |Ks-1 Wm-2 Wm-2 [Wm-3 |Ks-1

2
1
0.2
0.1

0.1+1

*4000 cm?!

0.1+1

*3500 cm!

1.39
1.01
5.09e-1
3.8be-1
1.15e-1

1.15e-1

1.15e-1

3.26
1.04
7.07e-1
4.30e-1
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4.91e-2
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8.81e-4
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b.57e-8

5.70e-8



Dependence of RMSE on resolution (p>=10 hPa)
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